
1
0

'-6
"

12'-0"

9
'-6

"

7
'-0

"
3
'-6

"

1
0
'-6

"

12'-0"

9
'-6

"

7
'-0

"
3
'-6

"

1'-0"

4
"

1
0
'-6

"

(H
IG

H
 P

O
IN

T)

SHEET

DRAWING NAME

REVISIONS

207.871.5900 www.granthays.com

P.O. BOX 6179 FALMOUTH MAINE 04105

ARCHITECTURE & INTERIOR DESIGN

ASSOCIATES

GRANT HAYS

T

ASSOCIATES IS PROHIBITED.

PERMISSION FROM GRANT HAYS

DOCUMENT WITHOUT WRITTEN

REPRODUCTION OR REUSE OF THIS

COPYRIGHT

SEAL

SHEET

JOB NO.

DRAWN

SCALE

DATE

T

N
 
O

 
R

 
T

 
H

 
E

 
A

 
S

 
T

 
 
 
 
A

 
 
I
 
 
R

P
O

R
T

L
A

N
D

 
I
N

T
E

R
N

A
T

I
O

N
A

L
 
J
E

T
P

O
R

T

P
A

R
A

P
E

T

S
I
G

N

R
O

O
F

1
0

1
1
 
W

E
S

T
B

R
O

O
K
 
S

T
R

E
E

T

A22

150655

MFH/mgk

19 FEB '16

AS NOTED

M
A

I
N

E
 
0

4
1
0

2
P

O
R

T
L
A

N
D

,

FRONT
SCALE: 1/2" = 1'-0"

TYPICAL SIDE
SCALE: 1/2" = 1'-0"

REAR
SCALE: 1/2" = 1'-0"

SLANTED ALUMINUM
CAP FLASHING (4")

1
2" WHITE ALUCOBOND* PANELS

SIGNAGE (BY OTHERS)
PROVIDE POWER FEED
TO SIGN

8" MIN. EPDM FLASHING
AT BASE OF SIGN

ROOF

SLANTED ALUMINUM
CAP FLASHING (4")

1
2" WHITE ALUCOBOND* PANELS

SIGNAGE (BY OTHERS)
PROVIDE POWER FEED
TO SIGN

8" MIN. EPDM FLASHING
AT BASE OF SIGN

EPDM ROOF

EPDM ROOFING

EPDM ROOFING / FLASHING
AT REAR ANGLED BRACE

SECTION
SCALE: 3/4" = 1'-0"

ALUMINUM SLANTED CAP FLASHING

800S162-54 [FY=50KSI] @ 16" O.C. METAL STUD FRAMING w/ 34" SHEATHING;
ATTACH STUD TO TOP & BOTTOM TRACKS w/ (1) #12-14 SCREW EA. FLANGE

WHITE 12" ALUCOBOND* PANEL FACING @ 34" SHEATHING

SIGNAGE LETTERS
(BY OTHERS)

MEMBRANE FLASHING
INTO ROOF MEMBRANE

ROOF STRUCTURE

POWER FEED FROM BELOW

600SS200-54 [FY=50 KSI] @ 16" O.C. w/ 34" PLYWOOD SHEATHING;
ATTACH TO STUD w/ (4) #12-14 SCREWS

20 JUNE 20163

CONT. TRACK 800T125-54 [FY=50KSI]

PROVIDE HORIZONTAL BRIDGING AT 13 POINTS

CONT. TRACK 800T125-54 [FY=50KSI];
ATTACH TO PLATE w/ (3) #12-14 SCREWS @ 12" O.C.

TRIANGULAR ENDS TO BE ENCLOSED
w/ WHITE ALUCOBOND* PANEL FINISH ALSO

MEMBRANE ROOFING / FLASHING

MEMBRANE ROOFING / FLASHING

PROVIDE HORIZONTAL BRIDGING @ MID-POINTS

TSN STIFFCLIP AL600; ATTACH TO STUD w/ (4) #12-14 SCREWS
AND ATTACH TO BOTTOM TRACK/PLATE w/ (4) #12-14 SCREWS

PROVIDE HORIZONTAL BRIDGING @ MID-POINTS

CONT. 16 GA. [FY=50 KSI] PLATE x 1'-0" WIDE;
ATTACH TO METAL ROOF DECK w/ (5) #12-14 SCREWS @ 12" O.C.

CONT. 16 GA. [FY=50 KSI] PLATE x 1'-0" WIDE;
ATTACH TO METAL ROOF DECK w/ (5) #12-14 SCREWS @ 12" O.C.

*GC OPTION:
WHITE EPDM AT ALL SURFACES
IN LIEU OF ALUCOBOND.

22 JUNE 20164

44

4

4

4
ROOF SIGN

4

4 4

4


	Sheets and Views
	A22
	OLE1
	OLE2
	OLE3



